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== 600
iy 1,400
01 ArR2t2|t| 2,000 2,000 0
0ol AgOtE =& 294l
2,000,000& 11 &~ 2,000
T 600
- 1,400
F2og)Isl 29 18,000 6,240 11,760
== 5,400
iy 12,600
301 Let8gAa3a 18,000 6,240 11,760
= 5,400
2 2,600
10 SAIAHIBAZ 18,000 6,240 11,760
OFsogsl 25 243
1,500,000& = 12CH 18,000
< 5,400
o 12,600
olblz2 sHXA 269,024 107,440 161,584
= 6,720
iy 262,304
SEYAE G 29 34,000 34,000 0
308 AXIEHXMSOIA 34,000 34,000 0
07 Hbl=zZ=s4dXAZaEX 34,000 34,000 0
OSBYBols HES 34,000,0002 34,000
olgl=2 XI& 235,024 73,440 161,584
& 6,720
iy 228,304
401 Al&EHIZLL20iH] 221,584 60,000 161,584
01 Al&HI 220,000 59,460 160,540
Oulbl= otBnNsa B4 200,000, 000& 200,000




D Muel
L oge 2y

CHlE sdXIE

SA-EH O (BH) - HBAY - B2 Ao gggf; HRS2
Oulbl=2 X9 AFRA SEHA
20,000,000& 20,000
03 A& S 0HbI 1,584 540 1,044
ooglz X& Ale=0l
220,000,000 *0.72/100 1,584
403 XXISHHSA20|H 13,440 13,440 0
== 6,720
iy 6,720
03 b Z=s4dAJAXNSEX 13,440 13,440 0
O2= &d| AN 13,440,000 13,440
< 6,720
= 6,720
2= 15,900 56,400 A 40,500
=8 AN 22| 3,000 24,000 A 21,000
402 QIZ2EXE0| ™ 3,000 15,000 A 12,000
01 QIZtX=Ex 3,000 15,000 A 12,000
OsZ&d A5 B 100, 000& *30H A~ 3,000
olgAagly A& 12,900 10,900 2,000
301 e A2 12,900 10,900 2,000
03 2AZ2AYUHAIRAZH 12,900 10,900 2,000
O . GiEAYN JEBEMNE HAB
50,000& x200"H 10,000
Oozi8tly 2= &0 24
10,0003 *290H 2,900
FS (MHEH2el ) 130,000 116,729 13,271
WHEHAHKI =S 130,000 116,729 13,271
Mzl 2 8 130,000 116,729 13,271
702 JI2EE2 130,000 116,729 13,271
01 JI2&E=E==2 130,000 116,729 13,271
Ot IS HES 130,000,000 130,000
HANSAAY| (Lot 22| ) 52,137 30,940 21,197
| 22Z 4l 52,137 30,940 21,197
=34t 52,137 30,940 21,197
201 eIy 35,037 13,840 21,197
01 AtR22id| 32,337 13,840 18,497




A THE2tel ot

B #H2HAY| (HLOH B2l D)
ool |22 (S de)
SN HB G (BH) - MRAY - BES O] &k o8 e Hlm= 2
Oger=gt| 25,337
oHBANLBEY) 70,0002 x202 33] 4,200
oHEE 22F 60,0002 +8LH +33] 1,440
oEMIRIE &l 210,000 504 =23 2,100
OZBIIRIE £ 430,000 *2CH*4M 1.5 5,268
0 =AII El 363, 0002 1} 3] 1,089
0 =AE 3,200,0002 3,200
oMeRER 70,0002 +122 840
0RNZE 28U 7,200,0002 7,200
ozl 7,000
0RN2Y BE WA 7,000,0002 7,000
2 TZ2YY) 2,700 0 2,700
oOSmHe2 2,700
0BESW23 2502 %2000 « 122 600
0SIISHRI 1,750 10004 » 122 2,100
202 o1t 17,100 17,100
RENCE] 17,100 17,100
ORNE2Y(ZE) 17,100,002 17,100




